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To generalize the convolution type

singular integral operators consider

a product measure space

XxY u v and a kernel
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We can now ask how to bound

operators of the form
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and
11k11g is called the Hilbert
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An easier way to control the

operator norm is Schur's Lemma
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The proof is Holder and interpolation

Now we know enough to answer

the question of whether suppfc E and

supp F CF is possible
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If that were the case then
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If IEl IFI 1 then there does

not exist fe 22 IR such that
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This actually holds for any
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Im Let E and F be sets of finite

measure in Ind Then
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is a compact operator Therefore
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orthonormal sequence of eigenfunctions for

T such test

TF fi 1

2s
K x y fixifily



Thus

mx Ii aklxysficaf.ly
111211Eur'd

Thus
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which gives a contradiction

Thus
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